s 93 ANTLINLAS FIU ( LANFIUTILUINCEN )( LA FIUT
Y |
Tatungau )

fia: YU AvuY:
4 1 5 4
4+ = T4 =
7 7 9 3
2 3 3 1
4= T4 =
132 52
2 5 6 2
4 2 7 3
2 7 1 1
4 6 6 6
5 6 4 5
4 4 3 3
2 5 3 3
4 6 4 6
4 4 7 5
e = 4=
3 6 9 3
17 4 4
4+ L= 4=
5 8 6 8
3 6 1 2
T4 = 4=
7 4 6 3
5 5 3 7
Z 4= T4 =
g8 7 g8 2
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5 93 ANTLINLAS FIU ( LANFIUTILINCEN )( LA FIUT
@ 2 .
latnungau )

fia: Yuii: ATWUY:
4 1 5 5 4 17 8
Ty2=2 A S
7 7 7 9 3 9 9
2 3 5 1 3 1 11 1
22212 SR Y
4 4 4 4 5 2 10 10
2 5 6 2 32 11
24223 T
4 2 7 3 21 21
2 7 5 2 1 1 1
frl-2-12 S4l=2

4 6 3 3 6 6 3

5 6 11 4 5

Ty = =9 — 4+ =

sta- 7?2 37373

2 5 4 1 3 3 5 1
cp222o i 2
4 6 3 3 4 6 4 4
1.4, T,3_22_,4
3 6 9 3 9 9
1 7 43 3 4 4 7 1
A A LA
5 & 40 40 6 8 6 6
3 6 27 13 1 2 5
Si2=l o2 4222

774 14 14 6 3 6

5 5 75 19 3 7 31 7
2i2=22 12 Shl=2 o3l
8 7 56 56 g 2 8 8
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